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QUESTION 1

Which statement is correct about a Fibre Channel (FC) World Wide Name (WWN)?

A. It is a hardware specific address for a LUN on a storage disk and can be used to direct FC frames to targets.
B. It is a hardware specific address for an FC device and can be used to place the device in zones.

C. Itis assigned to an FC device based on its location and can be used to deliver FC frames

D. It is assigned to an FC N-port as its switch joins the fabric and can be used to route FC frames

Correct Answer: B

QUESTION 2

Refer to the exhibit
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In the exhibit, the devices labeled PE and P:
useOSPF
have established an MPLS domain.
use LDP.
have established a Martini Layer 2 VPN between Sites 1 and 2
VPN traffic is using the link between PE-1 and P-4, and this link fails.
What happens to the VPN traffic?
A. Itis disrupted for this particular site-to-site connection until the link is fixed

B. It fails over to the link between PE-1 and P-5 only //administrators created a backup virtual circuit (VC) from PE-1 to
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C. It fails over to the link between PE-1 and P-5 only if administrators created two virtual circuits (VCs) between PE-1
D. and PE-2.
E. It fails over to the link between PE-1 and P-5. The failover is automatically handled by MPLS. LDP, and OSPF

Correct Answer: A

QUESTION 3

When is it recommended to block VRRP hellos between routers in the same VRRP instance?
A. when the VRRP master and VRRP backup router are part of the same IRF virtual device
B. when providing two VRRP master routers to be deployed in different data centers

C. when the VRRP master and VRRP backup router are part of a TRILL domain

D. when the VRRP master and VRRP backup router are top of the rack (ToR) switches

Correct Answer: A

QUESTION 4

Refer to the exhibit These switches form an SPBM region. What is required for load balancing to occur across the links
between these switches?

Backbone links all carry
B-VLANs 101 and 103
Forty1/0/49

Furtyh’Dl 50
Swlth
en1/0/1 -Ten1!0:‘48
. (receive tagged
VMs in VLANs traffic from
10, 20, and 30

irtual switches)

A. IS-IS cost for each backbone link must be the same (with IS-IS ECMP enabled).
B. B-VLANs must be configured to use different ECT algorithms.
C. Tandem multicast mode must be enabled globally

D. B-VLANs must be assigned to different MSTP instances.
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Correct Answer: C

QUESTION 5

Why might a customer decide to use MDC instead of Multi-VPN-Instance CE (MCE)?

A. to isolate tenants while maintaining the ability to leak routes in and out of a tenant instance
B. to integrate with Intelligent Resilient Framework (IRF)

C. to manage all routing and switch functions with a single management team

D. to provide further segmentation between tenants at the hardware or ASIC level

Correct Answer: A
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